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Is it not logical that he should be liable for the four things

OVERVIEW
The X132 presents a 1"p that 1w should be 2717 in 2°727 '7 just as a person is (since it
possesses the X1 that it is 7913 2>17). MdOIN explains why this 1"p is not refuted.

nooIn asks:
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And if you will say; we can refute the 1" for you know why by a person he pays

0127 '7 because he is initially a 79, can you say that regarding an ox, which is initially
a an and therefore should not be liable for the 0°727 '7.

mooIN answers:
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And one can say that we derive the damages of a person from the damages of
a person (but not M from 07R); therefore there is no refutation.

SUMMARY
If we say the 1"'p from 1912 to 2127 '7 we cannot ask 21N TV 19w DIRG A.

THINKING IT OVER

How can we differentiate between what n101n writes here (that if we change the
1"P so that 2127 '7 is derived from 9910, we cannot ask M>nNn TN PW QIR? 0
[even though that 27X who i1s 2°727 '72 2’17 is an integral part of the 1"7]), and what
mMooIN said previously on X 1"7 X,715 (Where mpoIn argues” that no matter how you
formulate the 1"p you can always ask the x57°9)?

' The 1"p will be as follows; and what if regarding 7912 where we are lenient (for a person does not pay I913),
nevertheless an ox pays 1913, so by 0727 '7 where we are strict (for a person pays 0°727 '7), an ox should certainly
pay 0127 7 (see R"wAnn). This is called a7X “prin 07X °pr1 because by both 9912 and 2727 '7 a person was hurt or
killed. We cannot ask 1n?nnn 711 19w 0787 71, since we are not deriving "W from 07X, but rather we are deriving 7
0'127 from 1913, See ‘Thinking it over’. See 77N *w1on MR # 65.

2 mpon there is discussing two 1"p; the 1"'p that 77p should pay a pr°17 mwn2a w"1 from 1" W (where there is a 717 837
Y7 Praw 2"wY), and the 1"'p that an should pay a proan mwna 22w 913 from 7377 Ppo1l (where there is a X370 that
9372 PPoT1 is WK 1w as opposed to 1912). In these two 1"p we could derive it differently; changing the 1"p to nw-n
mwa? (from 0°277 MWD where 1" are MWd to P37 MW where they are 2°1), but nevertheless N90IN maintains the
m>7%0 will still be applicable. The same seemingly should apply here.

? See TR KW,
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